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V" Flag question

For the circuit shown , when the diode is on
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Vv Flag question



The BJT Transistors shown are in the active region and have p = = . Complete the design of the circuit such that IC2 = 2mA , and VCET = VCE2 = 2V. Let R1+R2+R3 = 100KQ.

1.RC =. s | K2
2.R1= s KO
3. iu=_ s Ko
4.R3 = * Ko
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The BJT transistor in the circuit shown is in the active region and has p = 100 . Complete the design of the circuit so that

IC =128mA, and VC = B.&V
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For the circuit shown, what is the minimum value of the output voltage Volt) .
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' a. None of the listed values
' b. - 142

)G =220V,

 d. -6.8V,

e, -30V

ok =1V,

g. —15V
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Question 3 For

the circuit shown, what is the maximum value of the output
Correct

voltage Volt) .
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The BJT Transistors shown are in the active region and have p = « . Complete the design of the circuit

such that IC2 = TmA , and VCE1 = VCE2 = 3V. Let R1+R2+R3 = 100KQ.

1.RC={! 127'. ! ::)t KQ
2. R1= :' LY ; = E-? KQ
3. R2=_ s v KQ
4.R3 = $ |+ KQ
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The diodes in the circuit shown have VK = 0.7V
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For the circuit shown,the value of the capacitor C that will result in a peak fo peak ripple of 4V is
41.67 s |V WF

Ideal diode
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Vs(t) =100 sin 377t V
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For the circuit shown, the value of the capacitor C that will result in a peak to peak ripple of 1V is

Ideal diode

Vs(t) =100 sin 377t V
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The diodes in the circuit shown have VK =0.7V
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